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Read the information in the insert and answer all questions.
1  Study Sources 1 to 3.

(a) Identify the percentage of the world’s wealth that is owned by the richest 1 per cent of the
population, from Source 1.

.....1..pe.rtc.en?r..a?..?rhe...populo\ﬁo.n .......................................................................... [1]
(b) Identify two causes of income inequality, from Source 2.

_Jechnological change. or reforms. in. recent fechnology are. ...

-cousing.income. inequality. Also, increased. competition for........

-employment. opporfunities. is.cousing. income. inequality.............
............................................................................................................................................. 2]
(c) Which cause of income inequality do you think is the most significant? Explain why.
.In.my.opinien, fechnological change. is. the. most significaat.....
-couse.. It hos. the. greotest impoct as. it affects. all countries.....

_unconditionally, thus. having.a glokal impact. Moreover, it........

-offects all_sorts.of people. regardless. of their.employment. ..

dypes. s technological change. con be experienced.in.all ...

-kinds. of industries be. it processing, agricutfural, or_even......
fourism. Furthermore, it creotes o vicious circle of multiple
negoative consequences such os unemployment,
underemployment; and even increase in violent crime as o
result of unemployment.
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(d) Explain why economic inequality is an important national issue.
.Economic.inequality. is.an.important.notional.issue. for.a...........
.numbker.of. reasons. Firstly,. economic. inequality. my. cause.......
.unrest.ameng.the.general puklic,.especinlly. the. working. closs,.
oo notionall.level. . This. uorest moy. eventually. result.in.civil.....
woirs.or.a_poor. low. ond. order. condition. secondly, economic. .
-inequolity. moy. leoive. mainy. people. helow. the. poverty. line and.
_steuggling. to_make ends. meet. As.source. o_highlights that the
woges.of the rich are. increasing. foster than those of the. ...
_underprivilidged, this maly. result in many. people. struggling..in..

receive. woges. equal to their. lakor, they. may. migrote ... 6]
elsewhere, which would dromatically decrease the labor force
of thot particular notion.
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2 Study Source 3.
(a) ‘The best way to reduce economic inequality is to increase employment.’

What are the strengths and weaknesses of the argument supporting this claim?
There.ore.some.strengths. of. this.argument. Firstly,.o..credikle.
source. has.been mentioned.in.the. form.of. the.organization.......
for.economic. cooperation.and. development. which. of. firms this.
view..Secondly,. logical.arguments. hove. been.made. by. the.......
wiifer.who. clearly. sefs. out. the. importonce. of. skills. froining.......
Jhirdly, .o recent. source. hos. heen. used. from. 2019. Lastly, the.
writer. hos. quoted. his.personal, first-honded. experience. ky. ...
mentioning. his.fother's. struggle. to_educote.him which. belped....
him fo.form_his.own.company. However, there. are some.......
weaknesses too. Firstly, the argument. seems. unkalonced os......
there. is little. consideration of other arguments. secondly, ...
some. assertion. con_olse_be seen s the wrifer is presenting.. s
his own opinion as o foct in some ploces, like in the second
paragroph. Lastly, only anecdotal evidence is given ond
stoistical evidence is loicking.
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(b) ‘People who work are less likely to be in poverty.’

How could you test this claim? You may consider the types of information, sources of evidence
or methods you might use.

L will test. this. cloim. by. considering. mulfiple types.of..............
information. which.would.be. from.o.ronge. of. relioble. sources...
ond_ by using. multiple. methods. .. The. fypes. of. information. would
ronge. £rom.stodisticol. dotto,. thort. would. differentiote. between...
the percentoge. of. employed.and.unemployed. people. whe. are...
in.poverty, to.expert testimony, . such. as.social workers. Date.....
from. governmental. departments, international organizations, ..
and NGOs. would. also.be. kept in view.. The.sources would be...
credible and diverse, such.as Jocal and noticnal governments, .
internotional organizations like UN. and UNESCO, and ...
concerned NGOs, Media. and the. Internet.would. alse. e, used..
To_obtain dota_akout how many. employed people. are still ...
poverty stricken experts_and general public would also be. ...
inferwiewed. for. their. opinion.on this.claim... The. methods. used..
hy.me. would_be._strofedical ond. meaningful:. Primary research

from experts and conserned public. This would be followed by
secondary research in the form of infernet search and review
of secondary sources, such as articles, reports, and books on
this issue To obitain o verdict regarding , this cloin, the dorto
obtoined would ke represested in various forms for analysis.
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3 Study Source 4.

(a) Identify an example of a vested interest in Source 4. Explain why this is a vested interest.
An.exomple.of.o. vested.inferest.is'As.o.member.of.on...........
-environmentol.oction.group,. L believe. thot. more.money.............
.showed. be..spent.on. promoting. sustoinokle. development!... This..
.is.0.vested.interest.os. it.is. highlighting. Nodiot'S .soecvavcccc 121

(b) Ivan is arguing that the best way to reduce inequality is to reform the taxation and benefit
system.

(i) Identify one prediction from Ivan’s statement.

An_example. of o prediction is.'I€ more people. work, more.

(ii) Explain how well this prediction supports Ivan’s argument.

Some._support con be seen as this_prediction is.akout the...
Jenefit.of more people. working whereas. Ivon's argument..
is.cenfered around reforming. fox_and benefit policies...........

Jhus,.o dicect link _connot be. seen, though. an indicect....
ohe eXists.

3(0) «nen-- reason to support this view is the foct thot she
belongs to an environment action group. Thus, her benefit
lies in supporting this view.
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(c) Which argument is more convincing, lvan’s or Nadia’s?

Your answer should consider both arguments and you should support your point of view with
their words.

You should also consider:
the strength of their reasoning and evidence

their use of language
the different kinds of information used.

In.my_opinion, Ivan's. argument is more. convincing. than............
Nodia's.in. the. light of the strength of their reasening.and.......
evidence, their.use.of language, and the different kinds.of.......
informottion_used. Tvan hos mentioned o source. in the. form. of
o recent study with_supperts. of his.view.of providing. auality ...

0\generahseo(perspechvebys’romdmg’rhoﬁmanyeolearee

supporting the view fo spend more money on...... 15,
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...... hospitals: On the other hond, Nadio has also mentioned
o source in the for of expert testimony which supports her
view She hais provided some Logjicol arguments, such as the
ore where she links job creation fo unsustairable grouth-
However, she has not considered any counter-orguments, thas
making her argumeht biosed, nor has she included o ronge of
perspectives the hois trid to assert her own opinton by
presenting it as o foctual statement in many placas: Her
oppeal fo emotion and use of value judgements, such os where
she u enfording that everyone must accept o simpler lifestyle,
dearly degrade Logic- cohesivennas is also missing in her
argument oind exoggeration can also be seen, where she is
cloiiming alll mojor proklems o be o result of the present
model of econumle growth. in conclusion, wan's strengthe
outurigh his weoknesses and make his argument more
convincing.
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4 A government wants to reduce income inequality in their country.
The following actions are being considered:
spend more money on training and job creation
increase the amount of tax paid by people with high incomes
introduce more sustainable development policies.
Which one of these actions would you recommend to the government, and why?
In your answer, you should:
state your recommendation
give reasons and evidence to support your choice

use the material in the sources and/or any of your own ideas
consider different arguments and perspectives.

L would recommend the. first action to the government as......
this_action is the. most effective, least controversiol and......
-eosiest in implementing.........
By spending more money. on troining. and jok. creation, more. .
_people. will_be. uplitted from poverty than by any other ...
-option. I£ adequote. skills fraining. o provided and. sufficient ..
-employment opportunities. are. creoted many. people. will get .
-o_chance To.improve. their lifestyles, reducing the gop ...
between rich_and poor. Thus, this. action will_bove. o higher. .
-sealle.of impact, This_has.been informed by QECO, who. ...
_reported thot increasing employment is. the best. woty. ...
Moreover, this_action.is the. least controversial os._all people
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Furthermore,.this.oction. will be. easier. fo.implement. as.once........
Jobs_hove_keen.creoted.and. progrommers. have._been.initioted......
for. skills. training,.it. will. then. ke up. fo. the. puklic. fo.reduce...........
income. inequallity. Government. can. easily. set.up. the. troining........
centres. ot schools. for.children. and.in localities. for.adults. Jok..
creation.will.require. some. effort, but.government. may. exploit.....
ony. emerging.industry, be. it tourism,. technology. on.any. other....
Additionally, this. action.would. bring. widespread. henefit. to.all.....
people. by. the. power. of. collective. effort, people. will_have.an....
equol. chance. of improving. their. lifestyles.. This.action would. thus
create. such. oppertunities. that.would. ke. promising. for. everyone..
Some. people. may. say. that it would e time-consuming fo............
implement this_oction. However, i€ the issue. of sefting. up. fraining
centres.is hondled. efficiently. ot district level and it's taken up....
enthusiostically by the public, it would net. reauire. much fime.....
Similarly, by toking advantoge of any. emerging.industry, ...
government can fimely_creote many. jobs. Seme. people may. saly.
that this.action reauires. o lot of copital. However, the ...
investment would ke exponentially. returned in the woy the. .
national_economy. would fleurish. ..

.................................................................................................................
..............................................................................
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The third oction maly also reduce the economic gap by
encouraging everyone, regordless of their stortus, fo adopt o
simple lifestyle os has been supported by Kate Roworth of
Oxford University's Environmental Change Institute. However, this
oction would also foke o lot of time in implementartion o
fronsitioning from the current lifestyle to o sustoinable one would
require o lot of will.

Therefore, I would recommend o first action as it would
eventually solve this issue in o monner occeptoble by everyone,
Thus due 1o its non=controversial nature, eozy implementation,
effectiveness and obility to demonstrate power of collective
effort. The third action is the best way to forward in my opinion.

© UCLES 2021 2069/12/M1J/21



11

BLANK PAGE

© UCLES 2021 2069/12/M1J/21



12

BLANK PAGE

Permission to reproduce items where third-party owned material protected by copyright is included has been sought and cleared where possible. Every
reasonable effort has been made by the publisher (UCLES) to trace copyright holders, but if any items requiring clearance have unwittingly been included, the
publisher will be pleased to make amends at the earliest possible opportunity.

To avoid the issue of disclosure of answer-related information to candidates, all copyright acknowledgements are reproduced online in the Cambridge
Assessment International Education Copyright Acknowledgements Booklet. This is produced for each series of examinations and is freely available to download
at www.cambridgeinternational.org after the live examination series.

Cambridge Assessment International Education is part of the Cambridge Assessment Group. Cambridge Assessment is the brand name of the University of
Cambridge Local Examinations Syndicate (UCLES), which itself is a department of the University of Cambridge.

© UCLES 2021 2069/12/M1J/21



